Sichuan ChenAnHui Technology Co,.ltd

IMEEZ A m B R

External Fixator Product Contents

. . Sichuan ChenAnHui Technology Co., Ltd.
Email: jeyxx0313@163.com
. , Address: Room 1903A, 19th Floor, Building 1, No. 595, Jinzhou Road,

Jinniu High-tech Industrial Park, Chengdu City, Sichuan Province.
2019h%



4

5 PNA D Dl 1 Sichuan ChenAnHui Technology Co,.Itd Ci.;.

Hx
ONTENTS

BN —iXINEIE RSt

UNILATERAL NONDETACHABLE EXTERNAL FIXATION SYSTEM
B NBEX TSR 02

DYNAMIC WRIST FIXATOR

WA NEE LR i

DYNAMIC AXIAL FIXATOR
BRZEFSI 06

PELVIC FIXATOR

AR R 5 07

4 LIMB RECONSTRUCTION SYSTEM

BEXPXRRS 08

. INTERJOINT FIXATOR

s

-4
)

g 3 R BRI 09

A\

1l

A

o { 5 H g1 } -.J . MINI FIXATOR(PHALANGE & METACARPAL)

; )l ¢ SEETR (FRT) ”
B Al 1 SR

Il Las
T

B

o)
(Dues

=
31

—

=)
(40}
g}

& HAAINEE RS

MODULAR FIXATION SYSTEM

SN

EXTERNAL FIXATOR (STANDARD)
ovation and self-improv

1
| 1l

NHII 55hNEE R A S 15

5 NH 115 EXTERNAL FIXATOR SYSTEM
NH II 85 & £ 32 22 7 4t 20

NH I8 EXTERNAL FIXATOR SYSTEM

AO IISMEEZ IR A G 26

AQ III EXTERNAL FIXATOR SYSTEM

GY VINEESIRAL 34

GY IV EXTERNAL FIXATOR SYSTEM
HM—ER. AOIIL. GY VMBI ERGZTLR 35

SINILNOD

INSTRUMENTS OF NONDETACHABLE UNILATERAL. AO Ill. GY IV EXTERNAL FIXATION SYSTEM

1111
LL

RN EITE 7R 458

RING FIXATION SYSTEM

MBI E R G 38
RING FIXATION SYSTEM

AT ——— T — SNEIRE ZZRE, AFRTRISR

.. - SHEET FOR THE ROD & SCREWS
EBES|H 42

STANDARD BONE SCREWS

BXAHEES|H 43

SELF DRILLING/SELF TAPPING BONE SCREWS

BRE T (FHEFLAIE) 43

TENSION PIN

FEE 43

K-WIRE

R “

ELASTIC NAIL

S

K-WIRE WITH OLIVE
RS RE!

THREADED GUIDE WIRE

Ezﬁ. BIT 4

E (k%1
SUTURE-WIRE 44

contents



01

>>

>>

>

>>

>

>>

>>

>>

>

>>

>>

>

>

Ci E Sichuan ChenAnHui Technology Co,.ltd

NONDETACHABLE

UNILATERAL
EXTERNAL FIXATION SYSTEM

B—&NNEERE

FNXR BE-RAETRCGERTR
)

FAREE, RIETE.

WEIFA, AEmBHmMmE.

/B RFAR, ML AHRRZR.
ZREBTFTKE—, TEFNAN
ST, ATRAED, (RFEB S .
FrRRIT. REEZRES BN, B
EiERET
BRETRBHEERIURIT, Bl
R, BET .

Product features

Unilateral fixator, light, stable(applicable
for emergency cases).

Easy to operate. saving surgery time.
Minimal-invasive surgery. no effect to the
blood supply to fracture.

No second surgery, can be removed at the
clinic.

Consistent with the bone shaft,
controllable dynamic design, micro
movement, promote the union.

Clamp design, make the fixator itself as a
template, easy to position the screws.

Bone screw is designed with conical screw
thread, turning more and more tightly,
fixed and reliable.

Sichuan ChenAnHui Technology Co,.ltd Ci E

BrREMHSE, AERBLUXERE.

llustrates configuration for reference only, a specific configuration to the actual subject.

NO.91031000
P 55 5 S 22 (SR $18Y) Wrist fixator
A To configure

BREPIR Wrist fixator 145 Set

B3| ®2.5x60mm  Bone screws 23 Piece

BES|$P3.5x70mm  Bone screws 2% Piece

A7 HRF4mm Allen wrench 148 Piece

L£T88®3.5mm T-wrench 138 Piece
NO.91032000

BEX T F L2 Wrist fixator

BEPER Wist fixator 145 Set
B#5|H02.5%60mm  Bone screws 23 Piece
BES|HD3.5%70mm  Bone screws 2% Piece
AR ERF4mm Allen wrench 148 Piece
L£T8D3.5mm T-wrench 138 Piece

NO.91033000

e 55 5 £ 22 (LAY) Wrist fixator (L type)

BEPER Wiist fixator 145 Set

BE5|#®3.5x70mm  Bone screws 4% Piece

ARERF4MmM Allen wrench 138 Piece

_E£T88®3.5mm T-wrench 138 Piece
NO.91040000

BIEFZ2 Forearm fixator

BIRE SR Forearm fixator 135 Set

BE5|H®3.5x70mm  Bonescrews 4% Piece
573 ®@3.5mm T-wrench 138 Piece
A7 ERFSMmM Allen wrench 158 Piece
AAEF10mm Combination wrenches 138 Piece

AT Kt EF T E

o
~
=]
o
=3
[g]
3
=}
v
—~+
=
>
Q
—~
o]
=

02



Cia Sichuan ChenAnHui Technology Co,.ltd Sichuan ChenAnHui Technology Co,.ltd Cia

BrREMRHSE, AERBEUXFNE. ERREMESE, AEREUIERE.
lllustrates configuration for reference only, a specific configuration to the actual subject. llustrates configuration for reference only, a specific configuration to the actual subject.
NO.91050000 WM 1% Z2(TAY) Dynamic axial fixator(T type)
%95 3 22 (R EY) Wrist fxator :
3 T
; BES|£D6.0x 150mm Bone screws 2% Piece
j] PXTIR Wiist fixator 145 Set «8 | fj]
ﬂ;ﬁ BEE|4D2.5% 60mm  Bone screws 2% Piece 3 91081000 B%#5|$HBDS.0% 150mm Bone screws 23 Piece j]
a“e BE3|HD3.5x70mm  Bone screws 2% Piece RFRARFémm Allen wrench 138 Piece _U%___‘l
T A7 R FE4mm T 148 Piece FETDEMmM T-wrench 138 Piece 73
£ LE£73803.5mm T-wrench 138 Piece wEnhzoe Dynamic axial fixator 1% Set g
Hio & BiE5|$D6.0x 130mm Bone screws 2% Piece s
2= ﬁPng— 91082000 H%3|£HHBD6.0x 150mm Bone screws 2% Piece 7
ARARFSMmM Allen wrench 148 Piece
E No.g 1 060000 EETEBDSMM T-wrench 138 Piece E
g e 5 22 (B BY) Wrist fixator B N LT g
X mm ne SCrews iece
5 BN R asee el N =
s BRXTR Wiist fixator 1% Set S S Al srench T g.;
iece
@ BR3I$H025%60mm  Bone screws 2% Piece A - _ =
; B%3|$#®3.5x70mm  Bone screws 23 Piece J:ﬂ%j@;l;nm A“'ren.n. . :?‘E’. Piece =
L T Dynamic axial fixator Set
5 AR FERFI4mm Allen wrench 138 Piece e im l — S _ E‘i
o E4T8®3.5mm Tovmeach 148 Piece WIS gy TTRSIHP40X100mm Bone screws dx e B
. Xs AAAREI4Nm Allen wrench 138 Piece
E£728204mm T-wrench 138 Piece
NO.91070000

BXTER(ELZXTHR) Wrist fixator(Radiolucent muli-joint type)

8= R ) Dynank axial InatolSiraght iype)
mxv R i e I

BES|HD2.5x60mm  Bone screws 2% Piece VAR R Dynamic axial fixator 1% Set
BE3|$D3.5x70mm  Bone screws 257 Piece : xS owooi000  RSIEH®6.0X150mm  Bone screws 43 Piece
W7RRBIRFSMm Allen wreach 148 Piece = WA BIEE6mm Allen wrench 138 Piece
LE£78®3.5mm T-wrench 148 Piece FETE2osmm  —— 148 Piece
fEn =& Dynamic axial fixator 145 Set
F= I BHS|HD6.0x130mm Bone screws 4% Piece
= AR BITESMM Allen wrench 138 Piece
NO.91301000 R _— B
X T 22 (PEEKF]EH) Radiolucent wrist fixator BRI NEE Dynamic axial ixator 145 Set
19 o BEHHOSOXI20mM B i3 pec
REPRR Wist fixator 1% set = RAMITESMM Allen wrench 148 Biece
BE3|$D2.5% 60 Bone screws 2% Piece L£735O5SMm T—M | 138 Piece
B35 03.5%80 Bone screws 2% Piece mEhhze Dynamic axial fixator 1% Set
AR ERF4mm Allen wrench 138 Piece S Si05a00 E#5|504.0x100mm Bone screws 4% Piece
472 ®3.5mm Twrench 138 Piece ) XS AASIEFIMm Allen wrench 148 Piece
T8 D4mm T-wrench 148 Piece

03 04



AT R B R

o
<
=
j+1]
=
=
j+1]
X,
-
=
X
o
o
=

05

Sichuan ChenAnHui Technology Co,.ltd

Sichuan ChenAnHui Technology Co,.ltd Cia

ETREMH#SE, AERBIXEFRE.

lllustrates configuration for reference only, a specific configuration to the actual subject.

WEhHZ %R (BRBiLiK) Dynamic axial fixator

REh 35 Dynamic axial fixator 15 Set
B#3|$06.0x 150mm Bone screws 2% Piece
xx% 91140000  E#3|$tHB®6.0xX 150mm Bone screws 2% Piece
AAEHEE6MM Allen wrench 148 Piece
478 06mm T-wrench 138 Piece

M HFRERETE!) Dynamic axial fixator(Ankle joint type)

REn Dynamic axial fixator 125 Set
*2 E#3|46.0%130mm  Bone screws 4% Piece
X o ARERFmm Allen wrench 14@ Piece
i1 O6MmM T-wrench 148 Piece

MR R Dynaic axial fixator 145 Set
RS E#3|$t6.0x130mm  Bone screws 4% Piece
il AR AARERF6MM Allen wrench 142 Piece
LEET8RO6MmM T-wrench 130 Piece

WE AR Dynamic axial fixator 1% Sat
NS T £#3|5#®50x120mm Bone screws 4% Piece
5 AERESMM Allen wrench 148 Piece
E5T8EO5mm T-wrench 148 Piece

BErRERHSE, REREBEXFE.

lllustrates configuration for reference only, a specific configuration to the actual subject.

NO.91100000
BT ZEA Pelvis fixator A

B E To configure

BRIR The pelvis fixator 145 Set

E#3|$HBD6.0x 150mm  Bone screws 4% Piece

ARfRRFImMm Allen wrench 148 Piece

FE72E0EMmM T-wrench 132 Piece
NO.91110000

B ¥ ZEB Pelvis fixator B

2 1 oo

B3R The pelvis fixator 1% Set

2#3|$HB®46.0x 150mm Bone screws 4% Piece

ARAETRF6MmM Allen wrench 148 Piece

E5T8DEMmM T-wrench 148 Piece
NO.91120000

B FZ2C Pelvis fixator C

BRzE The pelvis fixator 135 Set

E#E|$#HBDA.0x 150mm  Bone screws 4% Piece
AAAETREFSMM Allen wrench 138 Piece
EET22DSMM T-wrench 138 Piece
ARIRF10mm Combination wrenches 1#8 Piece

SN FE KBS T

o
)
=
(g}
=
>
o4
=3
o
= ]
wv
~<
wn
-+
1]
=

06



Cia Sichuan ChenAnHui Technology Co,.ltd Sichuan ChenAnHui Technology Co,.ltd

G

ERRBENH#SE, RERBLSKEE. ErRBENSSE, REREBLSKERNE.
lllustrates configuration for reference only, a specific configuration to the actual subject. lllustrates configuration for reference only, a specific configuration to the actual subject.
NO.91060000

NO.91131000 . .

= Bt&$ 28 Elbow fixator

HIEHA LRSA
P
* MEB IR w—r— 1% Se
B BELCIR LRS fixator 18 Set B#3]4H5.0% 110mm  Bone screws 4% Picce
ﬁ EBES|EDE.0x 150mm  Bone screws 6% Piece RAREF5mm A e 148 Picce
g_? WAFRIRF6mm Allen wrench 138 Picce MEFRFO4mm Allen wrench 1400 Piece
gl] E£T2ED6MmM T-wrench 138 Piece LET#R®Smm T-wrench 138 Picce

NO.91132000
BIE}KB LRS B

BRI LRS fixator 1% Sct

BHES|ETP6.0X 150mm  Bone screws 43 Piece

AAHWFESMM Allen wrench 130 Piece

E£T8DEMM T-wrench 13@ Piece NO.QI]SOOOO

BEXTIZZR Knee fixator

=
=
o
-
)
0
o
=
<
=
i
=
3
<
)
-+
o
=]

BxPEe Knee fixator
HEg|EP6.0Xx 150mm  Bone screws
B#ES|$06.0x 130mm  Bone screws

NO.91133000 Pk R 6mm Allen wrench
BIEIC LRSC MERFO4mm Allen wrench
E5T28DEMmM T-wrench

L33 LRS fixator 1E& Set r .

BHES|5ID6.0x 150mm  Bone screws 637 Piece

B#3|$HBDS.0X 150mm  Bone screws 2% Piece

RAFAHF-6mm Allen wrench 148 Picce

E£TBDEMmM T-wrench 130 Piece

NO.91070000

BB FEA&KZE Pertrochanteric fixator

NO.91134000

%EﬁD LRSD BEESZIL Pertrochanteric fixator 145 Set
. BASI1060x150mm s 22 Fe
BIEK L LRS fixator 12 Set : e BEE|4$HBDS.0X 180mm  Bone screws 2% Picce
BES|EDPE.0X 150mm  Bone screws 437 Piece HABETFSMmM Allen wrench 148 Picce
7 35|4tHBDA.0x 150mm  Bone screws 2% Piece E£T2 MM T-wrench 14@ Piece
AABEFmMm Allen wrench 130 Piece
FET3DEMM T-wrench 138 Picce

07

185 Set

237 Picce
237 Piece
138 Piece
148 Piece
152 Picce

i
x
bl
-
2
#
5

Joyexy juloliaiu|

08



Cia Sichuan ChenAnHui Technology Co,.ltd

ETREMH#SE, AERBIXEFRE.

llustrates configuration for reference only, a specific configuration to the actual subject.

Sichuan ChenAnHui Technology Co,.ltd Cia

BErRERHSE, REREBEXFE.

lllustrates configuration for reference only, a specific configuration to the actual subject.

ELEEAY Straight type

09

HEER Straight fixator 145 Set
*= 91201000 BHS|$®6.0x130mm  Bone screws 437 Piece
i i L RAEEFESMmM Allen wrench 148 Piece
NO.91011000 NO.91012000 F£73DéMmM e 148 Piece
Sl SEBESHAILZE Mini fixator joint motion type IEE B ERIFZE Mini fixator straight type HEZR Straight fixator 1% Set Ap
= ®5.0x 120mm  Bone s 4% Pi
- i L i s e
= EwEETm Mini fixator 148 Set jEp BT Mini fixator 145 Set 4TS DSMmM Tevrench 148 Piece =
% BHE3|$02.0x50mm  Bone screws 4% Piece Bi#3|$92.0x50mm  Bone screws 4% Piece HEETR Straight fixator 145 Set i
§IJ AAAEFEIMM Allen wrench 138 Piece AAAERFEIMM Allen wrench 138 Piece e e BES|HD4.0x110mm  Bone screws 43 Piece ;"12
FET8O2mm T-wrench 138 Piece F5TE202mm T-wrench 148 Piece s RAMBRFSMm Allen wreach 13E Piece ;f—-.
EET2204mm T-wrench 138 Piece ;.l_—\
g. - i - ™ - HEEE Straight fixator 145 Set ;E
5 : PPN ; BES|HD4.0x90mm Bone screws 43 Piece 1
- Xs 104000 oA miRFamm Allen wrench 158 Pice RS
é E£788D4mm T-wrench 138 Piece
—+
8 N0.91013000 NO.91014000 EETE Ttype g
g AR SFEN T Z2KFEEY Minirail horizontal axis type HIR S FZZRMICE! Minirail lengtheners ®
> R T cntee AR o T R :
Urg NG Minirail horizontal axis fixator |2 Set AR ETa Minirail lengthener 145 Set *2 S ﬁﬁmﬁ-HBc'oé.OXISOmmBomms 9% Piece -t
20 B#3|$D2.0x50mm  Bone screws 43 Piece B%3|$02.0x50mm  Bone screws 43 Piece L R AR E6mm Al veraacls 18 Piece §
. AABKEEIMM Alten wrench 18 Piece AABKEIMM Alten wreach 138 Piece EETRD6MM ey 148 Piece S}
o E£78202mm T-wrench 138 Piece L£78802mm T-wrench 148 Piece TREXR T type fixator 1% Set —_
ot N B#3($®5.0%120mm  Bone screws 2% Piece g
o - : z 5 W] *M‘?' 91212000 % 3|$HB®S5.0x 130mm Bone screws 23 Piece =
| ki . e R Em H
oY) : . 2 -
= e e ————
-+
= . <
N0.91015000 — BASISHO40x110mm  Boe scews 2x e RS
sk g0 0 7 L . ) ‘\0'91017000 S 91213000 B%3|$HB®4.0¢ 120mm Bone screws 2% Piece o
IR FENSTZREE S Minirail vertical axis type IEETFTZEAE! Mini fixator A type 8 AA B ERESMM Allen verench 14 Piece
EE To configure ER To coufigare LET8204mm T-wrench 138 Piece
RS Minirail vertical axis fixator 145 Set rp— Mini fixator A 125 Set TRZR ;:rﬁxﬂw 1% :“
BRES|$HG20Xx50mm  Bone screws 437 Pieco B%32|$02.0x50mm  Bone screws 43 Piece 1#2;% 91214000 :ﬁgg;‘:’:ﬁfomm Anms‘::::h Tfﬂ —
WAMRFIMM Ao U e AAEKEFEIMM Allen wreach 148 Piece 4T d4MmM Toench 138 Piece
EE802mm T-wrench 132 Piece FETEO2mm S 148 Piece
- - PRETFFZ2 Ankle fixator
MEBHE Ankle fixator 145 Set
v - a el N
N0.91018000 N0.91019000 i S N
EHETLZEBE! Minifixator B type IEETFTZECEHI Mini fixator C type MEBHR Aukle fixator 1% Set
5.0 % 130 Bone screws AL Piece
R 1o cntge R ) S —
ERETE Mini fixator B 145 Set N ERE Mini fixator C 125 Set eSS T 18 Piece
B35 D2.0x50mm  Bone screws 4% Piece BH3|$02.0x50mm  Bone screws 437 Piece MEHHa Ankle fixator 145 Set
AAAREIMmM Allen wrench 13E Piece AABRFEIMM Allen wrench 148 Piece e 51163000 BES|HD4.0x120mm  Bone screws 43 Piece
FE7RO2mm T-wrench 138 Piece FE8o2mm T-wrench 148 Piece e RAMHRFSMm Allen wreach 148 Piece
L7382 04mMm T-wrench 1#8 Piece

10



Cia Sichuan ChenAnHui Technology Co,.ltd Sichuan ChenAnHui Technology Co,.ltd Ci a

ETREMH#SE, AERBIXEFRE. BErRERHSE, REREBEXFE.

llustrates configuration for reference only, a specific configuration to the actual subject. llustrates configuration for reference only, a specific configuration to the actual subject.
il I"l ﬂi‘i Z8  Universal type fixator

Al i A 1o cnor

— A — kR Universal type fixator 13 Set

T ‘_'\ f
= e it ry ) Cr E83 |5 06.0% 130mm Bone screws 43 Piece
N0.91302000 9= b
4 BB Z2(PEEK FliEHk)KE, EH Tibia fixator (radiolucent) LIS *8 onotioep  TFHIRF13-16mm  Open spanner 148 Piece 4
A X - AY
- z AAMIRF4mm  Allen wrench 148 Piece
Bt E To configure KE Qty
BE%R Tibia fixator 1 AFAHBIRFESMmM  Allen wrench 138 Piece
X:SEE BH3|406.0x150 Bone screws 4 782 D6MmM T-wrench 148 Piece XSEE
S AR FHI-HS Universal allen wreach 1 FICES 28 Universal type fixator 1 Set —
S 78R 06mm Twreach | B%3|$05.0% 120mm Bone screws 4% Piece [
’-_U‘ s . FO3#EF10-14mm  Open spanner 148 Piece F
AL M MABIEEAMM  Allen wrench 1A Pece KN
j% ) AFASERFESMmM  Allen wrench 1332 Piece lﬁlj
T NO.91303000 L£78O5mm  Twreach 1B Piece RS
— BEXPXIR(PEEK WER)KE, 5H Ak fixator (radiolucent) LIS HRER Dt fps Sxstor) RIS
= E#3|$05.0x110mm Bone screws 43 Piece
- RO b o
S SR ! s 92013000 i siE=Amm  Allenwrench 143 Piece

BHES|506.0x 150 Bone screws

i H3-H5 Universal allen wrench - ﬁ .‘5' ﬁ l"j AFAAERFSMm  Allen wrench 138 Piece
il : ] - P— e = L&7805mm T.wrench 148 Piece
1

T ———— S —— ———
EET82D6MmM T-wrench 6‘ © ® %)
£ = B 920200kx E A
j l@ Eﬁ l@ \FT: 1%2"""‘ C‘arco%?tgnogf*t ﬁﬂg!;i? ntube and have same other configurations

NO.91304000
HIHAGHK TR (PEEK RIIEH ) Hybird kit fixator (radiolucent)

BRIFZE Straight type fixator

m
m
Y )
= =
2 =
z )
Q =
—+ x
X =t
Q o
g =
o —
o w
— ”
? )
=]
== o
S 2
c Qr
(]
® <
2 2
S—

haffae Universal type fixator 12 Set
HEAERZR Hybird kit fixator 1 B%#2|$06.0x130mm Bone screws 43 Piece
:ﬁzi;:fozm :“fm“" z xx% 92031000 i 2t mA R o 13T Piece
e MABIEE4AMM  Allen wrench 148 Piece
BARFHI-HS Universal sifen yvench: 1 FMKREI0MM  Combination spanner 148 Piece
AAHRF10mm Combination spanner 2 L£732046mm T-wrench 148 Piece
ABBRFHS Allen wrench ! FaR%s Universal type fixator 125 Set
LEJEPSMM T-wreach 1 £#2|4050x120mm Bone screws 4% Piece
FPMQ-‘ 92032000 FH#EF10-14mm  Opea spanner 148 Piece
NO.91305000 ‘ WABRF4MM  Allen wrench 148 Piece
BREFEIE Ankle fixator Lzz;;;nm anchl N 1: Z:ece
_- G miversal type fixator 1 t
MEPHE — or H! — o E#3|$#05.0x110mm Bone screws 4% Piece
BERS[516.0% 150 — 5 z 92033000  FH#HmF10-14mm  Open spanner 148 Piece
=R2.5%250 Kowie 2 AAEmIEE4mm  Allen wrench 142 Piece
RER$2.0x250 K-wire 1 LE£78205mm T-wrench 148 Piece
FRmT 2040 BEARMER KT, AftEER L
FRESF Combination spanner 2 No.9204**** Can configure non-comp n/distractiontube and have same other configurations
AAARF3IMM Allen wrench 1
ARAIRFSMM Allen wrench 1
R /ITF6mm Allen wrench 1

11 12



G

Sichuan ChenAnHui Technology Co,.ltd

ETRENH#SE, RERBIUXEFE.

llustrates configuration for reference only, a specific configuration to the actual subject.

NO.95835000

FEO) B #RFZ 242 Lateral limb reconstruction fixator

7= 4% & Product Features

> EE. HE

> QIEAN BDmE

> BEBHAR, REMIE, FELERETRTT
> RAE, BRAHEXR

== Simple and easy to operate

== Small wounds and reduced pain

== Improve blood flow and prevent limb
necrosis by moving bones

>>Low cost, the disease is not easy to
relapse

(FREmEST) ARt S

m
>
-
]
=
-
21
=t
>
Y
=
o
=
—
&2
=¥
=
Q.
)
=
Q.
—~+
<
©
)
S—

NO.94300000
B BKEFIBE Skin retractor

13

g Size
®©3.0. ©4.0. ©5.0

A Size
®1.5x250mm
©2.0x250mm

Sichuan ChenAnHui Technologu i B s

MODULAR
FIXATION SYSTEM

HEXINEERE

-~ BERARE ERHENES.

>> FE I i AN i B 4 4 BT AT R Az
RIMETH R

> RPN ARERFARSNSF
(snap-fit), BB T RIEABNERE
TARAPIRIERS ] o

> BT BINNEFNENE, XEER
i R B 1% REAT R EE B SRR AT
HEEma.

> RIHRH T RENREMMREE.

> R BRI RNIESR.

> S BINE AN ERENRBAR
KBTI’ , R RM S FEF6ER
HiE.

> fERAE R AR

Product features

>> With the characteristic of advanced
technology and convenient usage.

>> Independent arrangement of bone screws
in proximal and distal fractures.

>> Apply snap-fit to the design which leads to
easier operation and less time.

>> Enhance the sharpness of the fracture
vision by using Medical aluminum &
carbon fiber.

>> Offer the best stability and elasticity.

>> Make the frame compactly.

=> Design aiming at the complexity of the
fracture and loss of soft tissue and
considering both variety and convenience.

=> Simple and effective usage.



X GITHN

S Kt A} e

=
==
—
||
%)
o
a3
™
—
=
o
=
X
)
-+
o
b |
uv
<
wv
-+
™
=

15

G

Sichuan ChenAnHui Technology Co,.ltd

NHIUSSMEIEZ R EH, TR

Parts & instruments of NH II 5 external fixator

Sichuan ChenAnHui Technology Co,.ltd

NHI S5 EIEZZREH, TR

Parts & instruments of NH 11 5 external fixator

FHTREIER HHEEX IEXTREER AFLIET BIE R
Pin to rod coupling Rod to rod coupling Peri-articular pin clamp 4-hole pin clamp
RS No 95801000 S No 95802000 wSNo 95804000 4SNo | 95805000
#MigSize = ©5/34 #M#ESize | ®5/5 H#ESize  ©5/34 HHESize | ©5/34

ey Y PR THER. 4888
Materal: Stainless steel. Aluminum  Materal: Stainless steel. Aluminum

HEE FHR. 2888 HEL FER. A8
Materal: Stainless steel. Aluminum  Materal: Stainless steel. Aluminum

= =

$HTEIE X FATEIE X MINIF§H#F £ MINIFF# 3£
Pin to rod coupling Rod to rod coupling Pin to rod coupling (small) Rod to rod coupling (small)
4SNo | 95813000 ~ #SNo | 95814000 4SNo | 95811000 . #®SNo | 95812000
#115Size | ®5/34 $#58Size | ©5/5 F#ESize . @372 #15Size ®3/3
HHft: PEEK 1} PEEK HRERHR. 2218 0 MR THER. A8R
Materal: PEEK Materal: PEEK Materal: Stainless steel, Aluminum  Materal: Stainless steel. Aluminum
G """"»:.,-,_
W2 “{h
30° Xt BHXH XA X7 iEBh AR
30° post Straight post Elbow joint mobilizer Wrist joint mobilizer
HRSNo b95806000 HKBSNo 95807000 &S No - 95808000 S No ;95809000
#H#5Size @5 ##ESize | ©5 #F#ESize ©5 HfESize | @5
MR TER #EE THR #EL THR #HEL THER
Materal: Stainless steel Materal: Stainless steel Materal: Stainless steel Materal: Stainless steel

Ee———

TRIRF

T wrench

EREAT ETE A< AT
Connecting rod Compression/Distraction single rod
HSNo 9554sscnk 956tk HSNo 95815000
#MAgSize | @5 K FE100-400 #HfgSize @5

4&SNo | 95902000

HELAS8. MESE
Materal: Aluminum. Carbon fibre

##Size | #5

TR THR. 24418

Materal: Stainless steel. Aluminum

R THER
Materal: Stainless steel

o
RESHRF SR
Stabilization/Reduction wrench Hand drill
f#SNo | 95903000 : 4iSNo | 95906000
#MiaSize | #15 HifESize 04

R REA. A48
Materal: Stainless steel. Aluminum

L5778

Screw driver

#EE FHR. 481

Materal: Stainless steel, Aluminum

SNo | 95909000
#iESize | ©3/4
PR THER
Materal: Stainless steel

FRARF

Open spanner

ELI#R biosict
Guides Thumb wheel
HRSNo 95910000 HSNo | 95911000
#i5Size | 034 HfESize  #57
ik R #El 4448

Materal: Stainless steel

%SNo | 95912000
H#ESize | #AI5. #5/7

Materal: Aluminum

#EL FHH
Materal: Stainless steel

2 GITHN

SN Kt}

=
e
e
o
un
M
>
-+
1)
-
=
D
=1
x
<1}
—
O
|
7))
~<
v
—
)
=

16



Ci E Sichuan ChenAnHui Technology Co,.ltd Sichuan ChenAnHui Technology Co,.ltd Ci E

BErRERHSE, REREBEXFE.

llustrates configuration for reference only, a specific configuration to the actual subject.

NO.95010000

NH Il 55p ] 7E 37 Z2 25t & REEBEEXT R Una&Radius spanning exteral fixator
NH I 5 external fixator instrument boxes T
HITEERDS/S Rod to rod coupling 4
z FS| mRER | TRES | A |(4E R A =
= No. | Product Name [Product No.|Specification Qty LU hidey il 4 ==
EREFF OS5 x 200mm Carbon fibre rod 2 i
o1 HITEER 95801000  ®5/3-4 - . o
))L’l‘ B 7 Rer\ Pin to rod coupling 2 S B4 EH3|$D3x80mm  Self drilling/Self tapping bone screws 4 9"
e FAEER ' : B #8 Used for: Tbia, Radi
0 g 2 Rod o rod coupling 95802000 D5/5 12 e i
— j = ——
xﬁ& 3 Lo | 3 fﬁ?ﬁp%ﬁgmp 95805000 ~ ®5/3-4 3 NO.95020000 %F'
y ] : " B JF . .
S : 4 EXDEEX 95804000  ®5/3-4 | R#&BE! Una&Radius fixator 70
= R =
4t 5 St post PELTLLY o 2 : N FHFERRDS/5 Rod 0 10d coopling 2 b
o Aty " Y =
6 30 XE 95806000 5 4 T L e I T 2
- 30° post : ! BEEHEOS Straight post 2 -
pm = 90324013 D4x130 4 HEREFT OS5 % 200mm Carbon fibre rod 1 =g
o BN EHERS|HD3Ix80mm Self drilling/Self tapping bone screws 4 =
w 90324012  ®4x120 4 ST RS 0]
2 - Fﬁﬁ?ﬁﬁlﬁ ing 90324010  ®4x100 4 2
= elf driling/Self tapping NO.95030000 =
3 bone screws 1 oIu =
S 3
) 90324008  ®4x80 4 R#BE! Una&Radius fixator o
- -
: e ook 4 , 2
S P, FHEEROS5/5 Rod to rod coupling 1 =g
o o
S 8 gcl%ﬁgs 95910000 »3-4 1 SHTEIEED5/3-4 Pin to rod coupling 2 %
% 95605250  ®5x250 2 EXTEERPS/3-4 o il ac P e ! 2
- FEEFO5x200mm Carbon fibre rod 1
3 95605200  ®5x200 4 A EHERE|$O3X 100mm Self driling/Self tapping bone screws 4 =
EEMR ERfE: RE. 4§/ Used for: Uina, Radius
4 Carbon fibre rod 95605180 ®5x 180 s
95605150  ®5%x150 4 NO.95040000
: . BEXTE Wrist joint fixator
95605120  ®5x120 2 g, o
Btx<5 & nhas 5808000 : £ e, "
It Elbow}oint mobiizer 7 ©9) ] o, &, gﬁ,,% Zi’ﬁ"ﬁiéﬁmi Wnstlmmmobdmr
\ 1 4 n BEFRDS5/3-4 Pin to rod coupling 4
n BRI 95902000 45 ] ¥ N _
S AHESRE|HO3x100mm Self drilling/Self tapping bone screws 4
RESLRF R BEE% Used for: Wrist joint
12 SobinotonReductionwrencn  © 2703000 #15 ! SRR
13 95906000 4 | " N0.95080000
14 OB 95909000 e ] f ﬁ IEEFE IVI|n|—fixator(Finger&PaIm)
e - T
15 ﬁi\t&rﬁo wheel 95911000 #5/7 I ,' \ MINIZREHFED3/2 Pmiorodconp].mg
; ) b 3% 80 Carbon fibre rod 1
16 BEE 95955000 ] Lo EEH ©
Instrument set { 7‘ i BE3[402x 60 Repp—, |

ERfE: #E¥Bir Used for: Finger,Palim
17 i



Ci E Sichuan ChenAnHui Technology Co,.ltd

BrRERHeE, RERBLXERE.

lllustrates configuration for reference only, a specific configuration to the actual subject.

JERfE: BEEEF Used for: Humeral shaft

NO.95050000
FtEFE! Elbow joint fixator
<
= R Elbow joint mobilizer 1
ol SHTE R R ®5/3-4 Pin to rod coupling 7
yl\ BN EHEHS|HO4x120mm  Self drilling/Self tapping bone screws 4
IE WEEfE: AT HIT Used for: Elbow joint fracture
iE
3
z
4t
z T
,:E, NO.95060000
T BB F BT Humeral shaft external fixator
2
EE FHEZERDS/5 Rod to rod coupling 2
S OUFHEEROS/34  olepncmp 5
= 30° FHOS 30° post 2
E HEEFTDS5 X 200mm Catboa fibre rod !
9‘ BN E#E%3|H 04X 120mm Self dnlling/Self tapping bone screws 4
v
<
(%]
—+
™
3

NO.95070000

BB R BT Proximal humerus fixator

HHTRIERD®S/S Rod to rod coupling 4
HHFBEERDS/3-4 Pin to rod coupling 2
AT EEROS/3-4 4-hole pin clamp 1
D5 X 250mm Carbon fibre rod 2
FEREFF OS5 x 200mm Carbon fibre rod 1
30° FEoS 30° post 2
BN EHEHS|HO4x120mm  Self drilling/Self tapping bone screws 4

ERfE: BEEIAEASNMES Used for: Proximal humerus, Condyle neck

19

Sichuan ChenAnHui Technology Co,.ltd

NHI 8P EEZ 284, TA

Parts & instruments of NH Il 8 external fixator

st EIE X

Pin to rod coupling

FHEIE X

Rod to rod coupling

SFLIMEHEIE X

5-hole pin clamp

AT

Tube to rod coupling

4%SNo | 95821000
$145Size | ©8/4-5

HSNo | 95822000
##2Size | ©8/8

%SNo 95823000
$4ESize | ©8/5

SNo | 95831000
#IESize = ©20/8

R R, A%E
Materal: Stainless steel. Aluminum

P IE T NP
Materal: Stainless steel. Aluminum

R TER. ae8
Materal: Stainless steel, Aluminum

R RN, A0
Materal: Stainless steel. Aluminum

Ankle joint mobilizer

4iSNo | 95829000
#fgSize | 08
BT RN
Materal: Stainless steel

SHTREIE R B ER 30° FiE k253
Pin to rod coupling Rod to rod coupling 30° post Straight post
£SNo | 95835000 HSNo | 95836000 %SNo 95827000 #2No | 95828000
H4aSize ©8/5-6  Hi#ESize : ©8/8  HifESize @8  HfESize : o8
#H$L: PEEK £ PEEK L FHER #HEL RS
Materal: PEEK Materal: PEEK Materal: Stainless steel Materal: Stainless steel
e e e 4 ia Ji“‘
BXTHiRThE BXTianhEE

Knee joint mobilizer

SNo | 95825000k). 95826000(:)
HAESize | ©8

R TER
Materal: Stainless steel

2 g I1 HN

SN Kt}

=
e
e
i
(00)
]
>
-+
1]
-
=
D
=1
>
<1}
—
O
|
(7]
~<
w
—
)
=

20



3 g ITHN

S S Kt A} e

=
=T
| |
|
%)
o
a3
™
-
=
R
=
X
)
-+
o
-
“v
<
wv
-+
™
=

21

G

Sichuan ChenAnHui Technology Co,.ltd

NHI 85 EIEZZREH, TR

Parts & instruments of NH Il 8 external fixator

é;;“;{§\

FIHES

Semi-circular curved connecting rod

HENo | 9582484+

AaSize | 06160, 08x180, ©8<20mm

i A&
Materal: Aluminum

hnEZE K B 4F

Compression/Distraction single rod

#SNo | 95833000
HiaSize | ©8

HE TER. ¢8R )
Materal: Stainless steel. Aluminum

REEMIRTF

Stabilization/Reduction wrench

@SNo | 95923000

$45Size | #22

HEL AER. 248
Materal: Stainless steel. Aluminum

L5778

Screw driver

RSNo 95929000

MigSize | 05

L TER
Materal: Stainless steel

AT

Connecting rod

4HRENo 9554 4een G5GHmns
#1#&Size | ©8 M 100-400mm

PR TS, A58
Materal: Carbon fibre. Aluminum

Sl

IR FE A TUAF

Compression/Distraction double rods
H=No | 95834000
#1#5Size | o8

7H: THEM. 248 )
Materal: Stainless steel, Aluminum

HAGERFF

Compression/Distraction rod

HENo | 95832000

#F1ESize | 020

HE: THER. 4888 )
Materal: Stainless steel. Aluminum

TRIRF

T wrench

H=No | 95922000
HfaSize | #7

7R FER
Materal: Stainless steel

HORF

Torque wrench

®&SNo | 95925000
$#ESize | #1

Ek THEm. 2488
Materal: Stainless steel, Aluminum

TE 2%

Guides
4SNo | 95930000
AiaSize | 05

FEL TR
Materal: Stainless steel

SR

Hand drill

HSNo | 95926000

HiESize | 5

#HE: THER. 4218
Materal: Stainless steel. Aluminum

1Ee

Thumb wheel

%SNo | 95911000

FAESize | #5I7

HE: A28

Materal: Aluminum

Sichuan ChenAnHui Technology Co,.ltd

G

NH I 85 Bl E X 2225 £

NH II 8 external fixator instrument boxes

Fs FEam AR FmRs A& HE
No. | Product Name Product No. | Specification | Qty

HHBEER

Pin to rod coupling

FHREER

Rod to rod coupling

S EER
5-hole pin clamp

B3
Straight post

°

X
30° post

BIB#HBFESIH

Self driling/Self tapping

bone screws

Eiras
Guides

AT )
Carbon connecting rod

IR S

Semi-circulor curved connecting rod

TEIRF
Twrench

RESMRTF

Stobilization/Reduction wrench

HORF

Torque wrench

SHHR
Hand drill
EEI3%
Screw driver

s
Thumb wheel

ARt
Instrument set

95821000

95822000

95823000

95828000

95827000

90325018

90325015

90325013

90325012

95930000

95608350

95608300

95608250

95608200

95824816

95824820

95922000

95923000

95925000

95926000

95929000

95911000

95958000

©8/4-5
®8/8
®8/5
8
®8
®5x 180
®5x 150
®5x 130
®5x120
@5
®8 x 350
®8 x 300
®8 x 250
®8 %200
®8x 160
®8 %200
#7
#22
#7
@5
®5

#5/7

12

2 g I1 HN

SN Kt}

=
e
e
i
(00)
M
>
-+
1)
-
=
D
=1
x
<1}
—
O
|
7))
~<
v
—
)
=

22



Cia Sichuan ChenAnHui Technology Co,.ltd Sichuan ChenAnHui Technology Co,.ltd Ci a

BrRENHSE, AERBLISFENE. BErRENHSE, RERBUKFRE.
lllustrates configuration for reference only, a specific configuration to the actual subject. llustrates configuration for reference only, a specific configuration to the actual subject.
NO.95210000 NO.95250000
B EiEimEHT Proximal tibia external fixator BEEE Pelvic fixator
,
HTRIERD8/8 Rod to rod coupling 4 FHIFEREE8/8 Rod to rod coupling 6 (\ & )
L STL4M$HEERDE/S 5-Hole pin clamp ! 30° 08 - > Z
Lc}:cs r 30° 8 30° post 2 124108 x 300mm Carbon fibre rod 2 i
gl\ ; h HIRF S8 x 180mm Semi-circular curved connecting rod 1 EEHFOB x 200mm Carbon fibre rod 2 ﬁll\
& L= EEFF P8 X 250mm Casbon fibre rod 2 B ELER3|4O5X 150mm Self drilling/Self tapping bone screws 4
E I} j BNELEHE| 405X 150mm  Self drlling/Self tapping bone screws 5 sEEfE: B# Usedfor: Pelvic }:._E
>? mEfE: [BEiEEE Used for: Proximal tibia : _
;:Z - NO.95260000 ﬁi‘i
S o
E4 N0.95220000 BRXTEIE Ankle joint fixator =
Bl FRE T B4 Femoral shaft fixator %
©8/8 Rod to rod couplin; 3
FHFEEROS/ e
1 HFEEFRD8/4-5 Pin to rod coupling 4
FHrEER©8/8 Rod to rod coupling 2
HITEZERDO8/4-5 Pin to rod coupling 4 HEEFO8 X 250mm Carben fibre rod 2
{208 X 200mm Carbon fibre rod 1
el st l SIESER2| 05X 150mm Self drilling/Self tapping bone 3
SCIewWs
EIEFFO8 x 250mm Carboa fibre rod 2 apping
illi i I ESERE|Hd4x130mm Self drilling/Self tapping bone screws 1
ENEHER3|HO5x150mm Self drilling/Self tapping bone screws 4

EEfE: BT Used for: Femoral shaft EREfE: %S Used for: Ankle joint

T =
= ac
= —_
® ey
e o
m ]
B =
3 @
5 =
o >
= L
=F =14
& >
2 o1}
g —~
S o
o =
< w
p: <
2 w
o} -
3 1]
= =)

NO.95230000 NO.95290000

d -ﬁ"' I E HIRF (45/4E) ) Half ring fixator(Standard) BEEIEIR3Z 2R Proximal tibia external fixator
HitEER®8/8 Rod to rod coupling 6 HTEZER®8/4-5 Pin to rod coupling 4
STL4ASHE R RD8/5 5-hole pin clamp 2 FHERRD8/8 Rod to r0d coupling 5
30° ZHo®8 30° post 4 RIMEERRDE/S 5-hole pin clamp 1
2T D8 300mm Carbon fibre rod 2 30 3::1?@8 30° 1_:oslt | 2
FEEFO8 x250mm Carbon fibre rod 1 FEIFE S8 160 Semi-circular curved connecting rod 1
S EHERE|HO5X150mm  Self drilling/Self tapping bone screws 4 EEHFO8x 200 Carbon fibre rod 3
W' = g WERE: B REER Used for: Tibia, perone ENEHEA3|45x150mm  Selfdrilling/Self tapping bone screws 5

: | ERESE: BH Used for: Tibia
R N0.95300000

NO.95240000
BB iR iR B #T Proximal femur fixator

BXF RS Ankle joint fixator

E‘.E To configure ”i Qty

iEREAE: A2E4EEE Used for: Perfrochanteric L
23 24

FHTEER®8/8 Rod to rod coupling 4 HHITEEFRDE/4-5 Pin to rod coupling 2

S M EEEDE/S5 5-hole pin clamp 2 TR ZER8/8 Rod to rod coupling 2

30° TEHO®8 30° post 4 BAMFEER®S/5 5-hole pin clamp 2

FEEFF©8 x 300mm Carbon fibre rod 2 30° o8 30° post 7

ENEHEFS|HO5x150mm Self drlling/Self tapping bone screws 2 i%#&#tmsxm Cubou:.lﬁ-bremd _ 2

EXBHERS|$O5x 180mm Self drilling/Self tapping bone screws D : SMES%ERE|$5x150mm  Self drilling/Self tapping bone screws 4
o EEEfE: B¥T Used for: Ankle jeint



Cia Sichuan ChenAnHui Technology Co,.ltd Sichuan ChenAnHui Technology Co,.ltd Ci a

BrRERHeE, RERBLXERE.

lllustrates configuration for reference only, a specific configuration to the actual subject.

NO.95310000
A (R AO MBI SR AL Mk, TR
< J Parts & instruments of AO 111 external fixator
BtE To configure < A—j
HHFEERO8/45 Pintorod conpling 3 | SHTRE % SHTRER
% FiTEER08/8 Rod to rod coupling 10 Pin to rod coupling Pin to rod coupling >
— 5Lt BERDB/S 5-hole pin clamp 2 | & ﬁ%N_O | 93801000 ?ﬂ%N_O | 93821000 o
o I EP . éirj_ ). 2 ﬁ:-s?ﬁmmi—;iﬁ gﬁ?;—emmt:sa .
ﬁl\ 8158 % 200 Connecting rod 1 ‘a j l Materal: Stainless steel. Aluminum Materal: Stainless steel. Aluminum 9"
[&] $3148 % 250 Connecting rod 2 /]
E $84%8 x 300 Connecting rod 2 o ﬂ‘ }:,_-E
Ho q : Ringent rod to rod coupling Ringent rod to rod coupling Jo
S EIEHER3|45X150mm  Self drlling/Self tapping bone screws 7 , ESNo | 93802000 &=No | 93822000 7S
7?; ERSE: BET Used for: Knee joint fracture MiESize | ©8/8 ##Size 11/11 %Z‘
% _ 3 PR R, A8 HE:RER. A2 4t
™ - i Materal: Stainless steel. Aluminum Materal: Stainless steel. Aluminum

FF A B E X

Ringent pin to rod coupling
4SNo | 93823000
AtESize | »11/5-6
R TR, 528

FOsHHTEIE R
Ringent pin to rod coupling
£SNo | 93803000
#MigSize | ©8/4-5
W TEM. 248

NO.95270000
fEXF Knee joint fixator

BiE To configure m

FiTEERD8/8 Red to rod coupling 2 Materal: Stainless steel. Aluminum Materal: Stainless steel. Aluminum
HITEERDS/4-5 Pin to rod coupling 4
BXHiAzs08 Knee joint mobilizer 1
SHliiions 3 e il chip 1 BEsHTEEL BT EEL
30° o8 30° post ! T clamp T clamp

2 HSNo 93804000 HSNo 93824000
HEEFT OB % 150mm Carbon fibre stick 1 ﬁ ##ESize | ©8/4 HiaSice | O11/5
EIELE 3| H05x150mm Self drilling/Self tapping bone screws 6 B TR, ASE tn e o

— g
T o
[
e =
0 —_
) —
ﬁ ]
® 5
= -
) =
- Q
5' =7
5 ]
=] o]
w -
P 2
g S
3

=

Materal: Stainless steel. Aluminum Materal: Stainless steel. Aluminum

WEEfE: BXT Used for: Knee joint

FH B E %

Rod to rod coupling
#HSNo | 93825000
FH#ESize o1/

PR FRR. 498
Materal: Stainless steel. Aluminum

] FH B E %
Rod to rod coupling
&SNo | 93805000
i #5Size . ©8/8
PR R, A48
Materal: Stainless steel, Aluminum

B e B 2 % . $HTEIE R

Pin to rod coupling Pin to rod coupling

#&SNo | 93826000
MigSize | ©11/56. ©8/3-4

NO.95280000
P2EFY Ankle joint fixator

%SNo | 93827000
iESize | 011/6

e { LR N R TER. 2d8
T T Vit Stloss e Aluinum Vatera Staies sl Ao
FHATEERDE/4-5 Pin to rod coupling 4

X EshEEo8 Ankle joint mobilizer 1

ENEHEH3|405x150mm Self drlling/Self tapping bone screws 4
EESE: BET Used for: Ankle joint

25 26



Ci E Sichuan ChenAnHui Technology Co,.ltd Sichuan ChenAnHui Technology Co,.ltd Ci E

AONIPBEIEZRAGEH. TR AO III5MEIEZ LR 1
Parts & instruments of AO III external fixator AO III external fixator instrument boxes |

g FEam A M RS Mg HE >
o Product Name |Product No.| Specification Oty O
= HATEE =
ng Pin to r%c;ecouphng 93801000 ®8/4-5 9:|
X FAHE b
IE 2 Rod forod coupling 93805000 ®8/8 4
= LB EFF(BER) M 3 A ouping 93621000 o11/56 12 f=d
Semi-circular trapezoidal curved rod Trapezoidal curved rod Curved rod ﬂ:ﬁ E 5’3
3 - i 4 2 93825000 ol 4 d
L ©2No | 93841000 _ @SNo | 93842000 SNo | 93843000 Rod forod coupling =
0l miEsze | 011, 08 _ spESize | 11, @8 MiESize | 11, ©8 5 ?ﬁcf%%ntgiﬁ 93824000 ®11/5 2 7
EN b, A2E P AR, 2R PR RER. AR F
i}f Materal: Stainless steel. Aluminum Materal: Stainless steel, Aluminum Materal: Stainless steel, Aluminum 90116015 ®6x150(HB) 2 é}E
90115015 ®5x150(HB) 4
> . BE3|E 90125015 ®5x% 150 4 >
(@) o ! Y ¢ Bonescrews (@
— - 90125013 Dd5x130 4 —
[— —
— 90124011 D4x110 4 =
) CarboEEﬁe rod ﬁe?sﬁnﬁr Comﬁ?laio*nﬁinner g
= 90124009 ®4x90 4 =
@ HBENo | 956wkeet HSNo | 9190414+ 4%SNo | 919042« L.
g ##Size | ©8-011, A 100-400mm MigSize | 10/14. 13/16mm #4ESize | 10mm. 13mm 95611350 ®11x350 2 g
—_ b7 E S Fas: ] ==
dl  Materal Stiniess steel. Aluminum 95611300  @11x300 2 =
= 95611250  ®11x250 2 g.
o )
= =, N --— .- — =0 0= —— - 95611200 @11 %200 2 ;
% =2 3 95611150  ®11x150 2 ﬁ
= | e - ~ 7 Carbon fibre rod P
3 METEAHF MR SEAAT 95608300  ®8x300 2 =]
Compression/distraction rod Compression/distraction rod 95408250 D8 X250 2
4&SNo | 94809000 &SNo | 94810000
#i5Size | @8 H#ESize @8 95608200 ®8 % 200 2
LR S
T S rtess sioo ki o O 95608150  ©8x150 2
20828200 ®©2.8x200 2
ﬁ‘%ﬁ
20848200 ®4.8 <200 2

' RIPE
| 9 Tapered frocar & guide 91981000 @4, ®5. ®6 1

:ﬂ @m"

" / 91914000 o4 ]
Vi 528
nERS RIFE L7385 10 T-wrench 91915000 @5 1
Pressurizer Tapered trocar & guide T-wrench 91914000 6 1
@SNo | 93828000 @®=No | 91908000 H/2SNo | 91901em "
#i5Size | @11 ##Size | 4. ©5. 06 #4ESize | 02, 025, 03, 435, 04, 05, 05 11 Combination spanner 91931000 10mm 2
Bk TEHEWR R 5| R THH AO
Ve Sl stel Vet s sl Ve Sayess st 12 | ROBRE. 93931000  AC-1Z 1

27 28



Ci E Sichuan ChenAnHui Technology Co,.ltd Sichuan ChenAnHui Technology Co,.ltd Ci E

AO TITAMEIE T ZR =51 €L T AO TIT5MEIRE 3z ZR =51 €L I

AQO I1I external fixator instrument boxes || AO 111 external fixator instrument boxes Il

> Fs FEan AR MI& HE FEama R RS ME& HE >
o No. | Product Name Product No Specification Oty Product Name Product No. | Specification | Qty O
— FOEHEER —
— R.ngem pinfofod couping 70003000 ®8/4-5 g,ﬁ?gggﬁgfn g 93826000  @11/56 =
i) o FOHHEZER 93802000 ®8/8 4 B
2] ?:'F‘%enﬁ%d: i ) HEEER 93827000  ®11/56 9
= . :
ZE. 3 Ringent pin forod coupling Rt LY CANTERS 2 Ll U E
FFOFITEER 5
_}:I;. 4 Ringent rod fo rod coupling 93822000 D11/11 4 3 ﬁcﬁiﬁﬁﬁ 93824000 ®11/5 2 E
7S 5  BESHTEER 93824000  ®11/5 2 7
EA IECicanp 90116015 ®6X150HB 2 %
G 90116015 ®6x150(HB) 2 P4y
90115015 ®5x150(HB) 2 90126013  ®6x130 6
> BES|& 90126013  ®6x130 6 B
3 ©  Bone screws 4 BE3G 90115015 ®5x150HB 2 o
— 90125013 ®5x 130 6 Bone screws o
[—
- 90125011  ®5x110 4 90125013  ®5x130 6 —
) (1]
>
= pOl2H0008 || BA08 | (4 90125011  ®5x110 4 o
= 95611350 ®11x350 2 g
% 95411300 D11 %300 2 95611350 D11 x350 4 ;
x' x>
<1} o7}
2! 95611250 ®11x250 2 95611300 ®11x300 4 g
2 - 95611200 ®11x200 2 .
7 : IHF <
P Carbonfibrerod 95411150 ®11x150 2 5 Comonfibrerod 79611250 @11x250 4 g
o] 1
3 95608300  ®8x300 2 95611200 ®11x200 4 =
95608250  ®8x250 2
et sl 5 95611150 ®11x150 4
95608150 ~ ®8x150 2 90838200 ®3.8x200 2
90828200 ®2.8x200 2 < gﬂﬁ'lhbits
B 90848200 D4.8x200 2
8¢ | Bio 90838200 ®3.8x200 2
90848200 D48X200 2 7 R hocoraguide 91981000 4, 05 06 1

RIPE
9 Tapered frocor & guide 91981000 ®@4. ®5. ©®6 1

91915000 D5 ]
91914000 4 ] 8 %:%TEE .
-wrencl
L£]28 5000 1916000 @ 1
10  Twrench 2191 5 ] 919 2
91916000 Db ] FAREE
AEEE 7 Combination spanner ezl L e
11 Combination spanner 71931000 10mm 2 TS
AOZEH & 2000 . 10 93933000 AO- I11E! ]
12 Instrument set L AO- I1& ' Instrument set

29 30



Cia Sichuan ChenAnHui Technology Co,.ltd Sichuan ChenAnHui Technology Co,.ltd Cia

BrRENHSE, AERBLISFENE. BTREHSE, RERBLSEAE.
lllustrates configuration for reference only, a specific configuration to the actual subject. llustrates configuration for reference only, a specific configuration to the actual subject.
NO.93020000 NO.93060000
ZEIZE ( TRY ) Pelvic fixator TRIZE Ttype

FHSH#TEEHR®8/4-5  Ringent pin to rod coupling 4 FIHEEHEREDI1/5-6  Pintorod coupling 4
> FHHITERE8/8 Ringent rod to rod coupling 2 WASHFEERRDI/5  Tclamp 1 >
) SRR ER®8/4 T clamp 1 FH®11x300 Carbon fibre rod 1 )
— F#H®8x 100mm Carbon fibre rod 1 BH3|HO5x130mm Bone screws 4 —
9_|" F4F 08 x 200mm Carbon fibre rod 2 B%#3|$HHBD5 X 150mm  Bone screws 2 ;l‘\

BES|$®4Xx100mm  Bone screws 4 ERfE: B8 B Used for: Femur, Tibia
,IE;]_, BES|$HBD4 x 100mm Bone screws P ._@
% ERE: K. BH. SiELHH Used forProximal umerusadibia&adiccent joints NO.93070000 }:3;
%o HEIZR (B8 ) Staight type 7o
2 S0 AT =
% s HEEEED] /5 Pia o wod cowpliog 4 P4y

FIRBYZR Half ring type FHOIIX250mm  Carbon fibee rod ]

N RS[0S X120mm o s A
(@] FUsH#FER%®8/4-5  Ringent pin to rod coupling 6 ERSE: B Used for: Tibia O
= FOFFEEROS/8  Risgeatrod torod coupling 6 ) —
— FIFHER S 08 Semi.circular curved rod 2 NO.93072000 -
e THO8X 300 R ! BRI (RREBH ) Staight type g
o MEERFOB Compresion israction o4 2 3
3 BE3|$4.0x120mm  Bone screws 6 prrr——— e . 03_,
=+ EEfE: BHEEEFA. A4 Used for: Tibia&perone openéclosed FHDO11 % 250mm e e ] ?‘3
5:-:_ _ B%3|$06x120mm  Bone screws 4 -
2 NO.93040000 JEEfE: B Used for: Tibia =
> BRB 3528 Tibial joint side fixator ) ﬁ
3 NO.93080000 :
3 FHOSHHTEIERDS/4-5  Ringent pin to rod coupling 7 BRETBEHT Ankle Joint external fixator 3

FUFFERROBS  Ringentrod o rod coupling .

I S08 Semi-circular curved rod 1 sTEERDI/S Pin to rod coupling 4

A 308 Curvedod ! FHEERO1/ Rod to rod coupling 1

THO8x300mm Carbon fibre rod 1 FHFD11 % 250mm Carbon fibre rod 1

BR3|$04.0x120 Bone screws 7 FHO11 X 200mm Carbon fibre rod 1

BEE: BRIEE/BET. EEEH Used forDistal fibicl jeint, proximal fracture B%ES|H®5%130mm  Bone screws 4

EREfE: B¥ET Used for: Ankle Joint
N0.93050000

B2 F28 Condylar fixator NO.93090000

4o
BiE To configure NE Qty Tﬂ:ﬁ. T type
EE To configure ME Qty

FLEHFEREEDB/4-5  Ringent pin to rod coupling 6

RAFHERROES  Rigmtrodiomdcoping 3 SHEREON/S Pin o rod covpling 4
EIRFFES08 Semi-circular trapezoidal curved rod 1 BASHFEREEOI/5 Tclamp .
()08 Trapezoidal curved rod 1 FHFO11 %300 Carbon fibre rod 1
FHO8x250mm Carbon fibre rod ] B3 |H©5x130mm Bone screws 4
BRE3|5040x120 Bone screws 6 H%3|$HBO5 X 130mm  Bone screws 2

BEE: EELE. BEEB. TR UsedforHumeral epicondyle.fibicl epicondyle.distal fracture iEREfE: [BEHZE Used for: Tibia comminuted 37




Ci E Sichuan ChenAnHui Technology Co,.ltd Sichuan ChenAnHui Technology Co,.ltd Ci E

BrRERHeE, RERBLXERE.

lllustrates configuration for reference only, a specific configuration to the actual subject.

NO.93100000 GY WQPEEE’%E%%&#
ZEIZ8 (fN38AY ) Zframe(Enhancement mode) Parts of GY [V external fixator

HHFEEROI/5 Pin to rod coupling 4 3 | 2
g ¥ i (")
(@) FHEEERO1/ Rod to rod coupling 2 e <
= FH®11 x200mm Carbon fibre rod 2 ) - - 0\
;[\ FHD11x150mm Carbon fibre rod ] B EL‘ 4
[E] BHES|$D5x130mm  Bone screws 4 R
= BEfE: RREER Used for Femur, Tbo PIHER ST % T
i Single rod clamp Double rods clamp Double rods pin clamp SE
- &SNo | 94801000 HSNo | 94802000 4SNo | 94803000 3o
7S MiESize  ©8/45 #igSize | ©8/8 #fESize | ©8/4-5 s
= N R A L TR 2
5_.3-{: Materal: Stainless steel Materal: Stainless steel Materal: Stainless steel _ﬁ_}E
Sy — = ()]
B i . :
= N0.93110000 o
—
= ZEIZR(THY) Zframe(T type) %
2 g
3 SERERCI i, i 73 fo) 8 sk SIS TR =
— FHEE=O1/N Rod to rod coupling 2 Double rod to rod clamp Curved connecting rod Semi-circular curved connecting rod >
Q
g {HasiFEER®I11/5 T clamp 1 HKBSNo | 94804000 42SNo | 94805000 4i<SNo [ 94806000 8
S s B ] Eﬁsmﬁ'ﬂws ﬁﬁsmﬁmw Ezsma:ﬂw 2
e FHP11X150mm Carbon fibre rod 2 Kok Staindess steel R e i Vi Stnfess steel é
= B%3|$D5%120mm  Bone screws 2 m
o B%3|$HBOS5 X 130mm Bone screws 2 3
3 WEESE: BEEZE Used for: Femur comminuted
R EEE HAF
Trapezoidal curved connecting rod Stainless steel connecting rod
HSNo | 94808000 £SNo | 95 Totototon
##2Size @8 #fESize = ©8 P 150-350mm
7EL: FER #7EL TEH
Materal: Stainless steel Materal: Stainless steel
NO.93150000
FRAER (BB ) Staight type B
1" | = Y T == ——
SHIEZRO!1/5 Pin to rod coupling 8 nEE <
FHEZR®N/1] Lo 2 Comprjigs%nigiﬁaﬁon o Compression/distraction rod
FHDI11 x250mm Carbon fibre rod 4 - H=No 94810000
BES|$D5x120mm  Bone screws 4 ggz" | am iaSize  ©8
ize l
JAEfE: ## Used forPelvic : - : - HE: TER
v HL REHM Materal: Stainless steel

Materal: Stainless steel

33 34



S
(=N

2OV JHSF

MHSENFIE = AD

=7
=
=
—
=
]
=
o
o
—
-
o
—
o
@D
Al
o
=
o
=
)
—
—
oD
e
@
2
=
o
o
-
=
@
&
an
=
8
g
=
o
—
o
=

35

G

Sichuan ChenAnHui Technology Co,.ltd

Sichuan ChenAnHui Technology Co,.ltd

G

B—&xX. AOIIl. GY VEERETA

Instruments of Nondetachable unilateral, AO Ill, GY IV external fixation system

A R

— )

e s
AP SII I,
mcpy

mEHRF e maE A=
Wrench Template with handle Hto Instruments
HSNo 9197 waen HKBSNo 9196 44% B/SNo | 97834***
MizSize | 4. 5. 6. Tmm ##&Size | 2.5, 3.5mm MiaSze | ©20. ©25mm | l
kR P RO T | '

Materal: Stainless steel Materal: Stainless steel Materal: Stainless steel

e e — -< e ooy .
f iz — Y gy, | [ A0 (0 %
S Y ‘\.5)’ i‘_. F T LR e P L i) 2 o 4
AABIRF AARF FORF
Hex wrench Combination wrenches Open spanner
HSNo 91924854 HBENo 9193 ewws HRSNo | 9194 wren
#145Size | 3. 4. 5. 6mm ##5Size | 10mm. 13mm #iESize | 10/14mm, 13/16mm
FEk TN o
Materal: Stainless steel . .;n-,l.j- }\'fié o,
o &
Gyl S
. el ‘\‘.;v“:‘

'f

'
t
|
|
"
‘B
i
!
e

=

RIPE LETER L5TEE
Tapered trocar & guide Screw driver Tension with pin
HHSNo | 9198k _ HSNo | 9191w ®SNo | 95928000
_ﬂﬁSize @3. @4, ©5. OEmm _ﬁ*ESize ®2. 25. 3. 35. 4. 5. 6mm _ﬂ&Size | ®3/4/5mm
R THEN R THR

Materal: Stainless steel Materal: Stainless steel

BErRERHSE, REREBEXFE.

llustrates configuration for reference only, a specific configuration to the actual subject.

NO.94010000
FEBE Mini-fixator(Finger&Plam)

Bl ® To configure

EREEIR Mini fixator 1
BES|H®2.0x50mm  Bone screws 4
A7 EIRF4mm Allen wrench 1
E£72802.0mm T-wrench ]

EEE: $§8 Used for: Finger

NO.94020000
IEEBE Mini-fixator(Finger&Plam)

EEEIER Mini fixator 1
BE3|§02.5x60mm  Bone screws 4
A7 AEF4mm Allen wrench 1
F4£782D2.5mm T-wrench 1

W Ja¥F Used for: Finger, Palm

NO.94030000

BEXTAY Wrist external fixator
BXTIR Mini fixator 1
BES|§D2.5x60mm  Bone screws 2
B34 03.5%x70mm  Bone screws 2
A7 AEF4mm Allen wrench ]
578 ®2.5-3.5mm T-wrench 1

WEEfE: W%$ Used for: Wrist joint

NO.94040000

BEEZ8 Pelvic fixator

SHEERO8/8 Double rods clamp é
PIFEERDE/4-5 Single rod clamp 6
M EEFOEMmM Curved connecting rod 2
MEELFO8MmM Compression/distraction rod 1
BEHF®8x150mm Stainless steel connecting rod 2
BE5|$D5x130mm  Bonescrews 4

BEEE: & Used for: Pelvic

X1 AD

-

S A Kt A

()]
-
()
=~
1"
b |
=
St
=3
>
o 7]
—
o
=
2
w
-+
1"
=

36



Cia Sichuan ChenAnHui Technology Co,.ltd Sichuan ChenAnHui Technology Co,.ltd Ci a

BrRENHSE, AERBLISFENE.
lllustrates configuration for reference only, a specific configuration to the actual subject.
NO.94050000
- A -
FIRBIZR(FRAEDY) Semi-circular type(Standard) MBI ERERHF. TR

Parts&instruments of cyclic annular external fixator
d

= = O

S ERDE/4-5 Single rod clamp
NO.94070000 2R NEE£IH =ZHIR =H£R

FEEO8mMm Semi-circular curved connecting rod
Rings Rings with six ears Rings with 3 ears Rings with 3 ears

EHFO8x300mm Stainless steel connecting rod

MEEKFOEMmM Compression/distraction rod

B%#3|$®4x120mm  Bone screws
%= KP4 x250mm K-wire
WEESE: EHBFR. A4 Used for: Tibia&perone opendclosed

BEEXTIHZE (FR/ER ) Tibial articular end frame (standard) FaNe | ST0im A | o= B [T S5 T

afas WRCERENES| Wias | SRR | mies S g ek | K8oh
RATSERDS/45  Snglrodcmp koo e M ol ot IO Vet Aagum
EHEEERD8/8 Double rods clamp
R O8mm Semi-circular curved connecting rod
HHF08x300mm Stainless steel connecting rod
A ERE FO8MMIC Curved connecting rod
BES|$®5x130mm  Bone screws
EREHD4x250mm K-wire
ERESE: BEREE%. &% Used for: proximal,.distal tibial

NO.94080000 Y 3R 2/3%F UZYIR

BEEERZ2 ( /n3EHY ) Femoral condylar fixator PR PR k.
HRSNo 9780444 HRENo 9780544 HB=No 97806+ HS=No 978084

faSee | MWD OA BN Im MiaSzo | WD EE NN B MMHSze | 010 100, 180 MSze | K. /N

AT ERD8/8 Double rods clamp HE: 2918 H: 2818 PR TN HE: A28
S ERDE/4-5 Single rod clamp Materal: Aluminum Materal: Aluminum Materal: Stainless steel Materal: Aluminum
TATSHE R D08/4-5 Double rods pin clamp

B EO8mm Semi-circular curved ting rod
E#Fo8x300mm Stainless steel connecting rod

NN RN = N O

SENAE K FIEE 2 AD

=
=
7a
=
>
)
.
o
=}
(%]
<
wn
-
)
=)

- lon = = - ®
)
b
3
3
7

‘-"7'.‘4‘}\1}
(37473 v 0 0 .0

(9)
-<
@
=
(1]
=
=
=l
=
>
23}
—~
o]
=
2
v
~
(1]
=]

[}
il

R B oo e g
AR EEEOBMME Curved comecting rod Sgﬁﬁd TR PHIFF
BE3|HD5x130mm  Bone screws Annular diagonal tie

HENo | 97839k 97810000

WEESE: BEIE%. &8 Used for: proximal,distal tibial MiaSize 1 K. HE &

N0.94150000 - v —— LA -

FHX$E! Elbow joint fixator

R BE 3 R
o 3 SRTE: 35
Packaged rod bz fprig porthisaacliod

N = N = N 0w

S ERDE/4-5 Single rod clamp 5 #SNo | 97840k 97811000 97812000 97813000
FHETE8/8 Double rods clamp 3 HigSize | K. FE. B
3 : .
E®8x200mm P e 4 sitesapesshiresborr hoesthes el inectibe Shectiond e e trecone headborc v the oo . \:C’;_ y. {\\ -—-ﬂ
E#FO8x300mm Stainless steel connecting rod 1 P &/ VRN N _ESa
S (M6) ’ ﬁ

BES|HD4x120mm Bone screws 5 Threaded rod i**ﬁ ﬁ*qﬁ- Eraj-_uﬁ-

JERISE: Bi%T Used for: Elbow joint = — Single joint Single joint Universal joint
SNo | 97809 . 97814100 97814300 97815000

F4ESize | 06x40-550 38




=
=
oQ
=h
>
Q
=
o
-
]
~<
wn
-+
)
=

39

G

Sichuan ChenAnHui Technology Co,.ltd

IIBEIERGREMG. TR

Parts&instruments of cyclic annular external fixator

™)

o)

I 4% 37 A UL RVREZIE 3 B ER Bt
Post with 4 edges Bush Post with 6 edges Post
#RSNo 978164k fHSNo 97817+ fHSNo 97818+ £SNo | 97832000
#MiESize | 1. 2. 3. 4.5, 65l  #4ESize 4. 05, O FE: T HE: T

R ol vt
Materal: Stainless steel

HEL 2448

Materal: Aluminum

20 e

Materal: Stainless steel

Materal: Stainless steel

‘t’-’: 5
[ iy
Jom R

FLETEE TR BRI TR SR RSB G T HE
Pin to post coupling Threaded column Hinge—female Hinge-male
#H=No 9782044+ HSNo 9782244+ 4H=No 97832000 H=No 97833000
Mi5Size D@4, ©5 MigSize 164l 7EL TER P TR
B TR Bl R Materal: Stainless steel Materal: Stainless steel

Materal: Stainless steel

Materal: Stainless steel

SN AN TN 'S o e
a - b b . i
BERESZH LB ERELR B EER BRI EEY
Nut column L connecting plate Connecting plate Tension with pin
HRSNo | 97823k« HSNo | 97824wm HSNo | 97825k HSNo | 9199
#M15Size | 1-64L #M#5Size | 1. 4.5.6.7.8.9, 10  3W#BESize | 2-87L #HHESize | ©1.5-3.0mm
L FHEWN B FHEW ik TR 7EL THEH

Materal: Stainless steel

Materal: Stainless steel

Materal: Stainless steel

Materal: Stainless steel

il FiZ S AR

Cross connecting plate

EKE

Inner threaded connecting rod

¥t

Pin clamp

il s i
e g 2

$HEE(E)

Pin clcamp(Thickening)

#wSNo 9782644+
igSize | 1671

%SNo | 97827000 _
M4aSize | 60. 80. 100. 120

£SNo 97828+
##ESize  ®4. 5mm

HSNo | 97829ws
MiESze | ©152. ©2-3mm

R T
Materal: Stainless steel

HEb: R
Materal: Stainless steel

#EE: AW
Materal: Stainless steel

#Ek TN
Materal: Stainless steel

$hkPRALES

& @=

ANRBEMe(nE) i FraRie B 5 (HHE)
Dirill bit stop unit Hex nut M6(Thickening) M6 bolt Rod to ring bolt Cone washer
RS No | 9784 wronn HSNo | 97831+ £SNo  97834™ fMSNo | 978214 HSNo | 97838000
B TR E TR A THW HEL FHEW ]
Materal: Stainless steel Materal: Stainless steel Materal: Stainless steel Materal: Stainless steel Materal: Stainless steel

Sichuan ChenAnHui Technology Co,.ltd Ci E

BErRERHSE, REREBEXFE.

llustrates configuration for reference only, a specific configuration to the actual subject.

NO.97001000

FE4CZE Lower limb lengthening external fixator
ENE: BE. BEBEITTEK

Used for: Tibia, Femur

NO.97002000
222 Orthopedic external fixator

BN BREINLEER. BEINLR
Used for: Humeral & fibial lateral epicondyle

:L—é:: "J'—:‘ S .

4

i

.-!L_,_....m*""‘?
&

.

NO.97003000 s =
IRHRZE Ring fixator

ENAE: BE. BREEH

Used for: Tibia, Femur

NO.97004000
2/3IR4RZ8 2/3Ring fixator

ENEE: BE. REEH
Used for: Tibia, Femur

=
>
q
=
>
Q
=
o
=
v
~<
I
—
(4
=

40



i a Sichuan ChenAnHui Technology Co,.ltd Sichuan ChenAnHui Technology Co,.ltd i a

BETRREN#HESE, AERBLIXERE. AT =2t LES
lllustrates configuration for reference only, a specific configuration to the actual subject. The size can be adjusted according to the customer's requirement
= vf- B,
PREBES|E
Standard bone screws
NO.97005000
PEEXTZE Ankle joint fixator =
. . &S K RGAE m
BENE: BHERH. I : o e - ‘ ' No. (mm) D{mm) }E
) 3 PUTTOTOTUTPIORPREp—
Used for: Equinus {'-":t*‘:"a'rirr.[r'rjdtr'rr';'t:ﬂt7 1,..1‘.“” - 90115009 ,%l.
90115010 ®5.0x100 25 =
FRER 90115011 ©5.0x110 30 g|
90115012 ®5.0x120 30 58 lf_‘l'
. :-L-;q,.,_,,,,_.-«"-"“y T T U TR DI S S PSR 90115013 @©5.0x130  HB 5.0 30 fé
= I il W SEE AT L s b T e : .
i 90115015 ®5.0x150 40 Ti A
Y]
. 90115018 ®5.0x180 45 g-
= B e 90115020 ®5.0x200 50 )
o NO.97006000 % x G IR S
= i No. M 90115022 ®5.0x220 50
= IRIRZR Ring fixator o
8 € : 90122005 90125009 ®5.0x90 25 o
o ENE: BE. REB TS -
=] Used for: Tibia, Femur 90122006 ©2.0x60 HA 2.0 15 ié 90125010 ®5.0<100 25 et
e Ti 90125011 ©5.0x110 30 Q
w0 (1]
2 90122007 ©2.0x70 15 [ [ = — 2
wv
3 90122506 ©2.5x60 15 90125013 ©50x130  HA 50 30 z:
B 90125015  ©5.0x150 40 Ti
90122507 ®2.5x70 HA 25 15 ss
$ 90125018 ©5.0x180 45
Ti
90122508 ®2.5x80 15 90125020 ®5.0x200 50
So1oa0e | 28 bact i e 90125022 ©5.0x220 50
. 90116010  ©6.0x100 25
NO.97007000 HA 030 ss
P f 90123007 ©3.0x70 : 18 ? 90116011 ©6.0<110 30
Knee joint fixator .
. -p J 90123008 @3.0x80 18 90116012 ®6.0x120 30 Z:ﬁﬂ
BN fE %E\E‘ﬁ‘ . 90116013 ®6.0x130  HB 6.0 35 ss
Used for: Knee joint 90123507 ©3.5x70 20 FHER ®
HA 035 ss 90116015 ®6.0x150 40 Ti
90123508 ©3.5x80 20 ﬁ 90116018 ®6.0x180 45
90116020 ®6.0x200 50
90124007 ©4.0x70 20
90126008 ®6.0x80 25
90124008 ©4.0x80 25 90126009 ©6.0x90 25
90124009 ©4.0x90 25 90126010 ®6.0x100 25
FER 90126011 ©6.0x110 30
124010 ®4.0x1 HA ©4.0 S ER: 1|
201240101 a0e100 2 & 90126012 ®60x120  Ha 6.0 30 =
Ti
90124011 ©4.0x110 30 90126013  ®6.0x130 35 Ti
90126015  ©6.0x150 40
NO.97008000 90124012 ©4.0x120 30
it $ o o 90126018 ®6.0x180 45
FE=HTESMEIEZ SR Ring fixator _
90124013 ©4.0x130 35 90126020 ®6.0x200 50

ENE: BE. BB
Used for: Tibia, Femur

41 42



i E Sichuan ChenAnHui Technology Co,.ltd Sichuan ChenAnHui Technology Co,.ltd i E

BB EES| 5 s REt SR P BT Bh

Self drilling/Self tapping bone screws K-wire Elastic nail Drill bit

[ .ﬂ-—_—% [C:?:-Q T =R

. - —_—
5 --
$‘5 No. Dimm l_(mm) M No D{mm) L{mm)
= P — re- 90401544 90710115 15
== No. D{mm) L(mm} M 90402044 90712115 15
= ggm %% 440 sAE Ti 90715115 1.5 115
= 90600810 3044 : 90718115 18 115
£t B FHE 90403544 250 90720115 20 115
. Amn 0 100 ss i S 90725115 ' 115
o 90601210 1.20 ﬁ 90725150 25 150
90725200 200
FE 90601510 1.50 @fﬁﬁ' _ _ 90728115 115
£t 90323009 ©3.0x90 HA ®3.0 20 = 90600812 0.80 K-wire with olive 90728150 28 150
- 90601012 1.00 8 B L
2 90323010 ©3.0x100 25 i : ss [ - ] 90730115 15
o Lo & f———E‘E e —— — 90730150 30 150
=l 20323012 030x120 2 Ak 12 kS — ] = ST ' =
Ft s o 5 90601512 150 SRR 90732115 15
x
8 Aal,
e a2 sorzn - 2 th
v 90324009 ©4.0x90 20 E T et o 90732200 200
%‘ ER: 2 Lyl L 150 Ss 90691535 90735115 115 =
= 90324010 ©4.0x100 - b 25 = T 0 & 9069 2 50 350 THS SS %gg% 35 g FEF SS £
S i e 2L = 90601515 150 ' 90738115 115 2%
@ 90324013 ©4.0x130 30 LAl 38 150
= 90324015 ©4.0x150 40 90601025 1.00 e . . 90740115 ns =
& Threaded guide wire 90740150 40 150 2.
- 90325010 ®5.0x100 25 90601225 120 90740200 200 5
=5 90601525 150 . 90742115 15 g
a 90325012 ®5.0x120 30 90742150 42 150 3
Sf 90325013 050130 30 ] 150 T 90742200 200 S
= T 90601825 1.80 90745115 15 =
@ ss . B 90745150 45 150 =
> 90325015 ©5.0x150  HA ®5.0 40 250 ey I : =
a $ 90602025 2.00 T 1R 90745200 200 2.
2 90325018 ©5.0x180 45 i I 5 T e . 90748115 115 s
s 9060 : - FHS 90748150 48 150 =
P 90325020 ©5.0x200 50 90603025 3,00 90901510 1.50 100 se 90748200 200 5
= B i & 90750150 150 =
= 90325022 ®5.0-220 30 90603525 350 90902510 250 = 90750200 50 200 =
=. 90903010 3.00 e
= 0604025 490 90901212 120 H 4 s
90604525 450 90901512 1.50 TR
=) == —
B
= (BREET ) HFLAET 90600830 080 ol 20 0 . Suture-wire g
s Tension pin 90601030 1.00 909090903012 e T < g
@ -.- o I 90601230 120 90901215 120 =
= - = e 90901515 150 TS =
® 90601530 Ly 90902015 200 150 2: =,
. 90601630 1.60 90902515 250 . ®
@< HI& TP 9090 Ti
No M 90601830 1.80 ss I Il =
- : 300 pee 90901225 120 =
90402005 ©2.0<50 90602030 2.00 T 90901525 1.50 TR =
90402055 ©2.0x55 90902025 200 2=t 5 %
o oo 90602530 250 SOEE 25D ?ﬁ e o
2006 0x _ 90603030 3.00 90903025 300 AR =
Kak i 90901230 120 . z
90402065 ©2.0x65 90603530 3.50 = _—
90901530 1.50 THE 08 &
90402507 ©25x70 90604530 450 90902530 250 & 1‘2
90903030 3.00 ' :

43 44



	封面封底
	00-00
	01-02
	03-04
	05-06
	07-08
	09-10
	11-12
	13-14
	15-16
	17-18
	19-20
	21-22
	23-24
	25-26
	27-28
	29-30
	31-32
	33-34
	35-36
	37-38
	39-40
	41-42
	43-44

